
TOOLS NEEDED

JK ROCKER ARMOR
INSTALLATION INSTRUCTIONS

• 18mm socket or wrench

• Pilot Drill Bit

• 17/32" Drill Bit

• 1/2" Socket

• 11/16" Open End Wrench

• RTV

• Marker/Paint Marker

• Anti-seize 

 •  36 - 5/16" x 3/4" Button Head

  •  36 - 5/16" Nutsert

  •  36 - 5/16" Nylon Washer

  •  1 - Anti-Seize Pack

  •  1 - 5/16" Nutsert Tool

OPTIONAL TOOLS HARDWARE

Please read the mounting instructions below 

carefully before attempting to install. 

Thank you for purchasing your new rocker armor from JcrOffroad! 

Checkout our website, www.jcroffroad.com for other great off-

road products. Be sure to rate and review our product online. If 

you have any questions or are missing parts, please don’t hesitate 

to call us at 269-353-1184!



It is always best to trial install before painting/finishing to ensure proper fit. If using a bed liner type product, you may need to use a 

drill or file to open holes or openings to the proper size. 

First remove any factory accessories (Rubicon Rails, side steps, etc.)

With the help of a friend, place the rocker skin into position. You want to make sure you have 
equal spacing between the rocker armor and both doors. 

1 

2 



While you have the armor in place, mark the bottom front and rear holes. This will serve as a 
guide for drilling. 

Now set the armor aside and starting with a pilot bit, drill the two holes you just marked. Work 
your way up to the required 17/32" drill bit.

3 

4 



Before installing each nutsert, we recommend applying some RTV to prevent rust from forming. 
Install a nutsert in both of the holes you just drilled, using the nutsert tool, an 11/16" open end 
wrench and a 1/2" socket.

Now, install the rocker armor using the two nutserts you just installed. Once you have the armor 
in place, drill the rest of the holes with your pilot bit.  

5

6



Now remove the armor one more time. Drill out all of the holes you marked to 17/32". Before 
installing all of the nutserts, you will need to remove the two bottom fender panel bolts and loosen 
the two fender panel bolts in the door jam. 

7



Next, install the rest of the nutserts. You will have to pull the front fender panel out a little bit to 
install the nutserts on it. 

Now that you have all of the nutserts installed, replace the front fender bolts and tighten up the 
door jam bolts. 

With the help of a friend again, put the rocker armor in place and install using the 5/16" x 3/4" 
button heads and 5/16" nylon washers. We recommend coating the threads in anti-seize before 
installation. Once all bolts and washers are in place loosely, go ahead and tighten them all down.

8

9

10



Now repeat the same process on the other side of the jeep.

You are done with your installation! Now go hit the trails and enjoy your new JcrOffroad Rocker 
Armor. 

11

12



JKSL-SK-4D - ROCKER ARMOR SKINS 4 DOOR - JK WRANGLER

Bolt Pack: 
JKSL-SK-BP:
  •  36 - 5/16 x 3/4 Button Head
  •  36 - 5/16 Nutsert
  •  36 - 5/16 Nylon Washer
  •  1 - Anti-Seize Pack
  •  1 - 5/16 Nutsert Tool

Item Code Legend
EX: JKSL-SK-4D-PC
 -PC : Powdercoated
 -BARE : Bare Metal

Boxes:
  •  75 X 17 X 10

Packed By

__________________________

Checked By

__________________________

Drivers Side

Revised: 01/06/2016

Passenger Side



JKSL-SK-2D - ROCKER ARMOR SKINS 2 DOOR - JK WRANGLER

Bolt Pack: 
JKSL-SK-BP:
  •  36 - 5/16 x 3/4 Button Head
  •  36 - 5/16 Nutsert
  •  36 - 5/16 Nylon Washer
  •  1 - Anti-Seize Pack
  •  1 - 5/16 Nutsert Tool

Item Code Legend
EX: JKSL-SK-2D-PC
 -PC : Powdercoated
 -BARE : Bare Metal

Boxes:
  •  66 X 17 X 10

Packed By

__________________________

Checked By

__________________________

Drivers Side

Revised: 01/06/2016

Passenger Side


